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QUESTION 1

How many drive bays does a DS4246 shelf have?
A. 42

B. 12

C. 46

D. 24

Correct Answer: D Section: (none)

Reference: https://www.insight.com/en_US/shop/product/DS4246074812AQSR6/NETAPP/DS4246-074812A-QS-
R6/NetAppStorageShelfDS4246-Storageenclosure-24bays(SAS-2)-HDD4TBx12-rack-mountable4U/

QUESTION 2

Which NetApp HCI component communicates with activeig.solidfire.com and the Cloud Data Services portal?
A. the NetApp Element software vSphere plug-in

B. the management node (mNode)

C. the NetApp Trident software

D. the NetApp Element software Management Interface

Correct Answer: B Section: (none)

Reference: http://docs.netapp.com/hci/index.jsp?topic=%2Fcom.netapp.doc.hci-
ude-170%2FGUID87FD2BD4-1C4C-4491-9A66-D2C5EA8C1B88.html

QUESTION 3

You have determined that an SFP+ has failed on one of your storage controllers.

In this scenario, what do you use to determine which SFP+ should be replaced by NetApp Support?
A. NetApp Active 1Q

B. Interoperability Matrix Tool

C. NetApp Documentation Center

D. Hardware Universe

Correct Answer: D Section: (none)
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QUESTION 4

You want to use the supported method to upgrade the ONTAP version of a Cloud Volumes ONTAP instance from
ONTAP 9.5 to ONTAP 9.6.

In this scenario, which NetApp tool accomplishes this task?
A. Cloud Manager

B. Cloud Insights

C. Active 1Q Unified Manager

D. ONTAP System Manager

Correct Answer: D Section: (none)

Reference: https://docs.netapp.com/us-en/occm/task_updating_ontap_cloud.html#suspending-snapmirrortransfers

QUESTION 5

A customer has reported an unexplained reboot of an ONTAP node that did not generate a panic string or a core file.
In this scenario, which two sets of logs do you collect to further diagnosis the issue? (Choose two.)

A. system core

B. sp status

C. events all

D. sp status -d

Correct Answer: AC Section: (none)
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